$$\mathbf{x} = \begin{pmatrix} \mathbf{x}_{est} \\ \mathbf{x}_{known} \end{pmatrix}, \qquad \mathbf{P} = \begin{pmatrix} \mathbf{P}_{est} & \mathbf{0} \\ \mathbf{0} & \mathbf{P}_{known} \end{pmatrix}$$

$$\mathbf{G} = \frac{\partial g}{\partial \mathbf{x}} \Big|_{\mathbf{x}_{out} = \hat{\mathbf{x}}_{out}, \mathbf{x}_{known} = \mathbf{x}_{known}} = \begin{pmatrix} \frac{\partial g}{\partial \mathbf{x}_{est}} & \frac{\partial g}{\partial \mathbf{x}_{known}} \end{pmatrix} = (\mathbf{G}_{est}, \mathbf{G}_{known})$$

$$K = P^{T}G^{T}(GP^{T}G^{T} + R)^{-1}$$

$$= \begin{pmatrix} P_{est}^{T} & 0 \\ 0 & P_{known} \end{pmatrix} \begin{pmatrix} G_{est}^{T} \\ G_{known}^{T} \end{pmatrix} \begin{pmatrix} G_{est}^{T} & G_{known} \end{pmatrix} \begin{pmatrix} P_{est}^{T} & 0 \\ 0 & P_{known} \end{pmatrix} \begin{pmatrix} G_{est}^{T} \\ G_{known}^{T} \end{pmatrix} + R^{-1}$$

$$= \begin{pmatrix} P_{est}^{T}G_{est}^{T} \\ P_{known}G_{known}^{T} \end{pmatrix} \begin{pmatrix} G_{est}P_{est}^{T}G_{est}^{T} + G_{known}P_{known}G_{known}^{T} + R^{-1} \end{pmatrix}$$

$$K_{est} = P_{est}^{-} G_{est}^{T} \left(G_{est} P_{est}^{-} G_{est}^{T} + \underline{G_{known}} P_{known} G_{known}^{T} + R \right)^{-1}$$

$$\hat{x}_{est}^{+} = \hat{x}_{est}^{-} + K_{est} (z - g(\hat{x}_{est}^{-}, x_{known}))$$

$$P_{est}^{+} = P_{est}^{-} - K_{est} G_{est} P_{est}^{-}$$